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01 SLHOIYI 36,495 26,923 9,572
O BAN2Y SHAH A 36,495,000& = 14 36,495
203 YR =&l 4,200 4,200 0
04 RENSELRZ=LH 4,200 4,200 0




SA ALSTHD
Mo WS AAY (ALY (IIEHIIEH)
el Il =R (crel: @ el)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa HDS2
| | O AL} (HLY 25%) 350,0002 * 120H € 4,200
MRES(HALTHN)(SSEMULM/THHST - 212R) 1,782,890 1,576,825 206,065
WEAHAHX = 1,782,890 1,576,825 206,065
WHEHH K= 1,782,890 1,576,825 206,065
702 0128 &E2 1,782,890 1,576,825 206,065
(AEVIE=PSE—= 1,782,890 1,576,825 206,065

THLU 22| D2 (BEEAMN 2 2 AH x| 232t
— o o =] 3

B Mol 1%) 178,288,962, 110& = 1/100 1,782,890




